Kinematics and derivative of exponential function
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A particle movesiagiorizontal line so that its position from a fixed point after =]
t seconds, \\-Ilvr'is simetres, where s(t) = 512 - 4,
a Find the position, velocity and acceleration of the particle alter 1 second.
.\ﬁ Determine whether the particle is speeding up or slowing down at ¢ = 1.
Find the values of { when the particle is at rest
‘/0 Find the time intervals on which the particle is speeding up, and the intervals on which it
is slowing down.
‘/r’ Find the woal distance the particle travels in the first 3 seconds.
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Consider the function =24+ 3.

J rind i the y-intercept il the equation of the asymptote. 9{
-.Al State the domain and range of the function. 2
Sketch the graph of the function. showing the asymptote as 00 77
a dotted line. 7 5
-\/ Using your GDC, solve the equation 283 =2 & 350 ,96

a) 2=0, a‘:— 2+3= 1

rintercept 72 (0,4
D) 593 W, 77
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The value of a boat, y, in thousands of UK pounds (£) is modelled by the function
¥ =20(0.85)", where x is the number of years since the boat was manufactured.
a Find the value of the boat when it was brand new.
b Estimate the value of the boat when it is 3 years old. Give your answer to the nearest pound.
¢ Use your GDC to estimate when the value of the boat will be worth half its original value.
1 Solve each equation: 2 Convert to the same base and solve each
equation:
a 2=16 b 10°= 1000000 ]
a 23=4x2 b 5¢3=25%4
c 2¢#l=64 d 321=27
¢ \L1=x
e 312x=] f 3x2*=48 ¢ 626 = 3635 d 91\-:=[l]
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